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(22 —5)Br+7) =2 x3 x 2%+ {22 x T+ (=5) x 32} + (=5 x 7)
=6zx2—z—35
(zy +3)(xy — 2) = (zy)* + {wy x (=2) + 3 x 2y} + {3 x (-2)}
2%y’ +xy—6
(a+b)2(a—b)?*={(a+b)(a—0b)}>
= (a% — 0?)?
=a?* — 2a%b?® + b*
(rt+y—z2)@-—y+2)—(z-y+2)(@+y+2)
={{(z+y—2)—(r+y+2)}xz—y+z) [BLERZEEZIIHHLEZ]
=—2z(c—y+2)
=—2xz + 2yz — 222

(Ft+y—2)z—y+z)—(@-y+2)(z+y+2)
e+ -2)Hz - -2} —{@+2)—yH@+2) +y}
=% — (y—2)? — (z+ 2)* +9°
=22 —y? 4 2yz — 2% — 2% — 2xz — 2%+

=—2xz 4+ 2yz — 222

622 — 5z — 6 ® 22 + 2y — 1242
=(2z — 3)(3z + 2) =(z + 4y)(z — 3y)
27a% — 18ab + 3b2 @ 5a2 — 45
=3(9a> — 6ab + b?) =5(a® - 9)
=3(3a — b)? =5(a + 3)(a — 3)

x2+xy+y—1
=(z+ )y + (2* - 1)
=(z+1y+(r+1)(x—1)
=(x+1)(z+y—1)



® 222 — xy — 6y* + 22 — 22
=(227 — 2y — 6y?) + z(z — 2y)
=(z — 2y)(2z + 3y) + z(z — 2y)
—(z — 2y) (22 + 3y + 2)

@ (2% +22)% +4(2® +22)+3 [ +22=A4 £B<L]
=A% +4A+3
=(A+1)(A+3) [Azdbricbey]
=(2? + 22+ 1)(2* + 2z + 3)
=(x +1)?(z? + 22 + 3)

[2] (1) A ABC ¥ ADAC 128\ T
/ACB = /DCA ()
/ABC = /DAC (fisg & D)
L0, 2HMOMABZNENE LA
A ABC o A DAC
U EIEORIET 5BORSOLITFELVOT
BC : AC = AC : DC
10:8=8:DC
32

D=-2  (O0F)
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BD:BC—CD:IO—?’—E?:%
L7zh3>T
AD:BD:%
(- ZABD = /DAB)
EEs3
AB : BC =DA : AC
AB:10=1—;:8
AB:% (O0%)
(2) BF //EG £
CG:GF=CE:EB=2z:15
L7 >7T, AF=FG &0
CF:FA=(x+15):15
%72, AD //FE £V
CF : FA =CE : ED
(x4+15):15=2:6
xr =10
(3) ® A APDco AMPB C, #flt252:1 &0
AP - MP=2:1
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MN:BD=1:2

¥72, BP:PD=BM:DA=1:2 BQ:QD=AB:ND=2:14XD

_ 1 =1
BP==BD QD= _BD

PQ:BD—BP—QD:%BD ------ ©)
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PQIMN:%BDI%BD:2:3
® A ABQco ANDQ T, HBULA2: 1 &V
A ABQ 1 ANDQ =2%: 12
+ubb
AABQ:ADQN=4:1
@ AAPQ:2AAQD=PQ:QD=1:1

AAPQ=AAQD ---- ®
E
AAQD:ADQN=AQ:QN=AB:DN=2:1
ADQN:%AAQD ...... ®
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AAPQ:ADQN =4 AQD 2AAQD =21
[3] (1) 2% (4, 6), (7,0)%@HDOT, WXL
7o 2
L7223oTC, R DLEMDOAIL
y=-2(x—17) Sooy=—2x+14
(2) AD /J/ x #i
X0, APADwo APEF ThY), ZomfEL271:4 X0, MlllLid1:2TH 5.
L7 5T, ADPEOHAIZRNE L VS, M A ORI
—2+4 046 _
(5 5 =, 9
(3) B LIE, 25 (4, 6), (—2,0) 2#LDT, {DORIZ
y=x+2
L7z T, MBDOx#iZE% a3 5L
Afa, a+2)
YoT, DOy B a+2
D IREHm LORTHLENL, O o BEFEEZROD &

a+2=-2r+14 =l%}ﬂ
Wz, AB=AD &
_12—a . _ 8
a—|—2—72 a . a—5
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[4] 1) Asy=ax iZx=a %#RAL, y=ad? - A(a, a?)
Biy=ax ICEXTAHDT, mORITy= —%x
r=a2fMALTy=—-1 - B(a, —1)

@) ZCAO =90° — ZAOC = ZCOB
ZOCA = ZBCO = 90°

L oT, 2MOANEFNZENE LD S, A 0ACo &2 BOC
OA:OB=AC:0C=d’a=a:1
SOA:OB=a:1

(3) A OAB OHHICIEHT % &
A OAB = %OA-OB: %AB-OC
S OAXxOB=ABxO0OC=(a’?+1)xa=a(a®+1) GEWHK)

(4) OA:OB=a:14&0, OA=a-0OB
INn% OAxOB=a(a®+1) IXfKATZ &
ax OB x OB = a(a® + 1)
s OB*=d’+1
o OA? =(a-OB)? =a?-0OB? = a?(a® +1)
OA?4+0B? = a?(a®+ 1)+ (a®>+1) = (@’ +1)(a®>+1) = (a*+1)? ---©
—Ji, AB=AC+CB=da?>+1&Y9, AB*=(a>+1)? ---@
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OA? + OB? = AB?  (GiFH#%)












